11,900km
367km 1 /109
290
1,306km
140
21

3 /109
6,442km2  54%

9,719km?  82%
1,260km? 11%

25 19

20

2,300mm

900mm

1,800mm

s 51|

TE#MR

AEEFEXM
- RS L (EE)
B EEmgEK
W B (E2K)
L

| e $538 (JR)

3000~ 3600mm
2600~ 3000mm
2200~ 2600mm

1800~2200mm 4

1400~ 1800mm
1000~ 1400mm
600~ 1000mm

n 70%
19% 9%
20
| ]
81 ) (
( 38
( 23 )
| ]
| ]

OEEEOON

(m)

[ ]
1/1,000 1/1,500
]
1/300 1/4,000
-—  ——

800

700

600

500

400

300

200

100

174,000 1/3,000

1/50

171,000 1/1,500

1/50

50 100 150 200 250 300 350
KM ————————
——l
n
— 800
600
W 0
gy 200 3
1o o
v 200 =
I’V‘ 1 -400
-600
-800
200 250
n
0
A




29

Om3/s

S34 S49)

FERlETET

?5?19159%?53

FRERETET

e

NP IR




[ 25 4 11
[ 17 29
[ 40
| 49
1
2 | I 44 8 .
: 1,750m3/s( ) :
25 17 | 122 I
F---—-—-—-—-—--------=-=-=-=-~- 1 4,730m3/s( ) 5,290m3/s( ) ! ( 839 7447 ) I
I 29 7 | Fmmm—m——mmm—m—mmmm—m—m——m—m————m—m—-— - —- - | 9 ( ) !
: 32 9.7m P 29 7 ( ) I T T st
Lo 10000 [ 144 (4.4m)( ) i 46
I 25,000 !
[ - === ====n ' | 47
i Aé:j (882 X ) : st | 49 1
| .2m [ ettt
! 259 VL300 _ 7 8 9 .. : 11,500m3/s 13,500m3/s 4,000m3/s
e e 12873 _ _ _ _ _ _______ ' 5 9,000m¥/s 11,000m3/s 4,000m3/s
( ) ( ) ( )
6 5570ms/s | || - _______—_C 79 |
P T y Ty TTTTTTTTmTTmmommmees ] 1 57 9 :
! 6 10 ( ) : | 7,300m3/s( ) ! 53 |
15 @sm( ) . . > . ]
- | 7619 : ! (3794 2425 ) 11 53 6 :
g ' 54 " 5,810m3/s( ) 2,270m3/s( ) i
] 31 !
5570m%/s 11 : (4207 9,035 ) !
- T T T T T e e e e e e e e s e s s s s - — = -1 5§&£ rYr 00000 lmmem e e e e e e e e e e e e e e e e e = e e = e e e e e e e e e
[T mm s e === == 11 15 7 ! |-z~ TTT T T T === 1
20 10 N 3 49 : P Ig Ty ;) 56 8 ! >4
I 106 1 ( 250 120 ) 1 | 1 10,140m /S( ) 1
L (2204 4843 ) Nl : ! 7199223/5( ) i L ( 1446 1502 ) | 56
R G T - ! B (e 2608 ) 11777 TToTTmTommmmoo '
L a5 ! 1530m%/s e - ' 56 60 59
24 16 17 C )
S 9,000m*/s 1,960m3/s 58 62 | |
PO/ F——————————=—=—=—=——=——=—--= I I 57 9 I
28 23 R - G ; ! 9,890m3/s( ) ! 6
( ) ( ) | 1 1 Ir=-=-=-=-=-=-=-==-=-=-========-"
e 35 20 61 ! ( 52 322 ) no 10 8
I 34 8 | ( y\rm——————————— | . -TTTTmmmmTTTTTTITTT " 1,720m3/s( )
' Gsoomrs ) ) , 2 ST T
: ( A g 10950 ) 11 36 6 :I_____________z’f(ioln_/f____ : 7.940m*/s( ) ! ',:::'_'_(::::::::::8'_8:::)::
[ ! ’ o 7,470m3/s( ) T 36 8 : : 2 I 4 ! 16 7 :
1 ( ): : g- " Loga ):: 2,670m3/s( ) 1 lm - — 31 ____ 423 _)_ -4 6 : 4,080m3/s( ) :
""""""""""" R G P e A | 80 ! 1 979
37 ' ( 2,407 7138, ! ( 10712 6359 ) |
7,500m3/s 3 ! 13 1 |
Fmmmmmmm—m e m e m e e e el L L o o
:. : : 1
40 "r________________________________________T: ___________________________ 1 _6 ________________
7,500m3/s 9,000m3/s 3,200m3/s : ]é810073/ 1
7,500m3/s 9,000m3/s 3,200m3/s ! oum :( )50 !
) ) C > WP e e P :
Fm o o o o e o e e -

| 40 |




[ | 57 9 16 10 18 7
| 29 ( 57 9
] 16 7
2 1742 8 29 1896 7 6 (1917)10
- |
[ ] [ 300m
[ 4 ¥ S W w) U
[ | [ |
144 (4.4m)( )
***************************************************************** 25,000
6,323 75 (
2800 i BEER s ol 05 20 | (|| T
36  1961)6
34 1950 8 :
[
[
T
e S T 1125 41 1084
15,197
4,238 10,959
53  1978)6
57 (1982)9

7777777777777777777777777777777777777777777777777777777777777

]
n 10
(421mm)
] 4,080m3/s
]
: 979
17,071 10,712 6,359




16 7 13

|
[ 11 15 1,000 17,000
|
.\"-..,_‘ F v e |
Al ¥y ‘i i, ehﬁn}ﬁ;
,/‘__'-.'“\ o~
[ [ n ' -
T4 iy ¢ —
\c\ - —
u pois
. 10 (421mm s | 1o I I I ( €
3 0 o 0 o /J g5
o — e - R s 5 3 1 [0] 1 3 .
= : 431mm  7/13 8 3 (0] (0] 1 -1
[5{0] = e e o &4
| e 4400 [ 50~100mm 34 16 2 1 3
B3 sof i £ 100~ 150mm ?Eﬁlzraﬁélﬂ)"
M 40 4300 &g [ 150~ 200mm L=29.8
E 5 & &2 [ 200~ 250mm
3 30 - 1300 5 [ 250~ 300mm
3 . =5 I 300~ 350mm
= 100 [ 350~ 400mm '
10K = | [ 400mmEl £ i i
02021222324 1 23455 78 9Uﬂ21314151517181920212223241 23456789 1U1112 o B
7R128 7R136 e AR 4 fmlzm(l
. =1, Bkm
?E!EEIE n‘%
7 L=6,41]
[ | 11
[ 15 1,000 17,000

3,100ha

] H16.7.13
| 500 2.0n
S 20 05

“d H16.7.13

ha 2,970 4,140 1,170
2300 800 60,400 15,300 2 14,300 16,000 1,700




16 10 23 17 56 | 19 7 16 10 13 17km 6.8
|

6
10km 6.8 . "
11
[ ] [ | 0
185 425
- ]
70
m 250 u

IR = = | meaz10 23 1040
" ¥ S S ! ( 6)
[ | S 5 A '-\\
| s 1% .
u B e Ig" i ‘ i / H_‘{
7 i i
ks A 4 i ™
s W\ i ] i =t iﬁ_—‘
16 11 5 NN R a
=4 E.“T Ry h oy Yy
el =

' (m)

+0.781

+0.5~+0. TR#
+0.3~+0. 588

+0.1~+0. 3R
—0.1~+0. 1%&

A
! N T } —0. 1~—0.3%A
035 T _




m 29 (1896 )

|
|
n - n 2880 m3
23 1,000
2,350

n 2 1870 = ’

400  727.2m 120 280
u 29 1896 42 7 5 218.2m 1/2000 1/700 1/500

n 4 1915
1/2,000
7 3ss Ay o
/ ,5’30"/_—”(__,':2‘,2§0n% i. .I 158136 ( 4,790m)
1/500 : 172000

m 2

270m3/s




S49)
17100 1/150
17150 17100 | 17150 | 1/150
(S61 ) (R4 ) (mm/2 186 171 270
(S59 ) (S54 ) (H2 ) (H13 ) (H15 )
(549 ) ( S58 S62) mss)| 11500 | 135001 4000
(556 ) 62 ) ( H16 ) (375) 9,000 | 11,000| 4,000
(S53 ) (H15 ) m3/s
S58 S62 S56 S53 s61
32.3% 51.3%




11,500m3/s

13,500m3/s

4.200m3/s

S49

T
" i
i A E
17100 I Bt
186mm/2
2100+ 3, 00—+ 4, 000>
11,500m3/s Bl o 3
# i & |olMT
g |# " -
9,000m3/s <%
il
t
§_ oM
8
B TD"'m
17150 g — |A
A 11l g H
171mm/2 o ; 'i' oB2/l
EOE TE ]
3
13,500m=/s E 11,000 +11,000 « 8 500
]
11,000m3/s ] n 9
& F 2]
E # a1
17150
270mm/2 4,000m3/s
4,000m3/s
4,200m3/s
4,000m3/s
L i
m 5 n
t i ¥ R + i i
X
§ E m i m ﬁal H
g n
H %
;.n-:t,?nn =4 200 4=4.000 3600 3300 &30 <2100 <2500 =400 i i
ottt (e
1 a { |o

e

14000 ;
12000 E 11,500m*/s
10000 s9
m\\E, 8000 *
6000 H
4000 [ H
0
o - ) L) 2] [ee]
5 8 % % B § § g g 2 2
—~ 250
~ s49
T 200 j 186mm/2 _|
E
o~
L) (=] i o i (=] Ll [{e] - o ol ©o onl [sr] [=e] o [e¢]
o o — — o o ™ (2] < < mn n 0 o o — —
7] (%] 7] " 7] (%] (2] 7] (2] 7] (2] 7] (2] e T u T
20000
18000 |
16000 [ s
z 1‘2‘888 L 13,500m*/s
E 10000 S49
8000
6000 -
4000 V.
0
— © — o — ©o — ™ oo} ™ ©
[92] (2] < < n n [{=] o o — —
7] 7] 7] ) ) ) ) I I ey ey
—~ 250
~ S49
Q
E 200 —| _ 17imm/2
~ 150 l
o 100
50
0
— © — © — [} — © — o — © — (2] e} o™ (e}
o o - - o o [32] (2] < < n n 0 o o - -
) 7] 7] 7] (2] (2] ) 7] ] ) 7] 7] 7] T I T T
6000
5000 | .
. 4,200m>/s
v 4000 11
= s49
£ 3000
2000
1000 T
0
[{=] i (o] onl (=] ol o™ [ee] o [ee]
™ < < n n [ o o — —
w (2] 7] 7] (%] (%] T T u T
~ 400
S 0 s49 I
E 300 2/0mm7zs2_
250
200 |
~ 150
100
50
0
- — [(e} — ©O — — — — (22} [32] (o0}
5 8 @ 7 § 8§ 8 & 3 3 B # g8 2 g § 2

[ T | (‘{gg;d [ HEE i J
T 1 11 E.i"'.l"'.ﬁ" 3
T, GO 17,8 ofgg ks = —F —
: : .'.: : L) j’? fil GEV 11,600
R i AT,
B ik a0 T T: 11,800
[ | i "l | &
m 31 18 " i 11800
(51 ’mm I |3 10,800
5 ) '
» J‘ 2 11,500
" . / -
™ 1 i 11,200
1/100 i / pours ]
10,800 7 o
11.800m3/s e AtH H I i
5{;] 1000 2000 5000 10000 {ndfsd
T (n/s)
7 - 12,500
T 17
: : : i 13,900
TR o
o ’ 14,300
5 14,300
- 31
(51 1] 12,100
" / 3 15,700
pil eery ! Gumis]  ——
- :: ;7( Lot 3 12,100
1/150 5 = ; 5”& — 2 16,000
12,100 P / barM — '
3 ) R [ TR
16.000m°/s 15-:3 00 2000 5000 u:m 200085 2 15,500
o o 20 [
AU L HEAH SUUR B o =y N o e — T : m®/s
! ;’E’? 100 b5 7 T 4,000
ﬂ * : "
£l RO P A » 3,700
l.";_a 1 / ; 15]
B s e : L] GEV 4’300
- 33 18 2 4,200
(49 'm&u 'j Lo 3 :
3,900
30 'P’
0 i
[
- " rE i =—=]
1/150 5 ’;‘ ik -
3.700 / | teg
4.300m3/s 1 'J'L.
= 0 200 B0 (nd




11,500m3/s 13,500m3/s 4200m3/s
29
3
> g 1742 12,500 15,500m3/s 16000
10,700 12,400m3/s 29 7 14000 b
- S34.8.14 11,800 12_F100
12000 | A
2 8 300m T T
710000 | 10,800 10,700
4 E 8000 |
75 25,000 T
4000 [ -- - m e m e
2,800 6,400 2000
56 8 I
57 8 11,500m3/s .
S31 H18 2
18000
- 16000 F--------——-——-———————-= 16000 15500 - ___
$36.6.30
14000 f------ O ;L—————————————:L ——————
12000 f----------mmmm ey
0 12,100 12,500
N 10000 [----mmmmmmmmmmmmm e
S
8000 --—--—- -
6000 | ---=—== === mmmmmmmmmm e
4000 f----m e
13,500m3/s
2000 f---mmm e
0
S31 H18
6000
- 5000 [--------—— e 4 %09 ——————
S36.8.6 4,300
- 7 7 16 7 B e R L
o~ 3,700
2000 Lo - - | ___________
4,800m3/s =3000
H16.7.13
10000 2000
9000
8000 1000 ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
3 7009 4,200m3/s
= 5000
4000 0]
3000
2000
1000 S31 H18 7.7
o 16.7




m 9,000m3/s 9,000m3/s
m 11,500m3/s
u
385
m L] ( ) ) -
9000ms3/s £
49 58 .
9,000m3/s ' _.
9,000m3/S 370 5,500m*/s
=200 =100 0 100 200 300 400
u | | PERE(m)
9,000m3/s () 59.5km(
“ ? & 525
9,000m3/3 " 520 H#J.L \
5,500m2/ B: .. v 2
" 10 3,600m%/s
. -150 =100 =50 o 50 100 150 200 250 300 350 400 450
11,500m3/s B
41.5km(
3,600ms3/s
| |
JR 117
HWL
9,000mz3/s

385

400

350

[T-P.m]

300

250

11,500m3/s(
2,500m3/s

~5,500

—

—
°

[
009‘€ 000'%
[ )




n 13,500m3/s 11,000m3/s
n 2,500m3/s
| |
| |
|
50 [
11,000m3/s 40 ©
11,000m3/s _a b
- 2,500m3/s N
20 ¢
10
X
_10; o o [Te) o [Te) o [Te} o o 9] - o [Ts) o [¥s) o - 7o) o o
=1 o [km] — 39 « @ ® ™ < < Irs) ﬁ?m] © © ~ ~
| |
30 40
11,000m3/s
6
15.3
400m
HWL

k \ 4,000m%s

1/3,000 1/1,300

4,000m*/s(

4,000m*/s

13,500m3/s

2,500m3/s ( )

+~2,500

5,000

«11,000
13,500

11,000 «11,000 9,500 {(m?/s)




| | | |
| | | |
) N o
i N < —
| o )
- e >
I I =
| | < ~
t 13
| |
.l el s .
|
L \;\#\#\h 1 o
[ ~
| | | |
! L 1
[ R T o
i 1o1_1_1 1o
[ R B el
| | | |
! LAl 15
@
R R 11 _ 1 S YN
| ™ o
|
o
| [ ] Te}
F— A.,r — w Z.
““““ i | ¢
| ~
|
L ' s
I N (=)
| I-m
“““““ + E S
| ° N
, oy
L L | H ™
” i
. 1g
| n
| L i |
| -
|
: e
|
L R A il 1<
| —
|
|
I 3m \ <
\\\\\\\\\\\\\\ i 1 o ™ =3
[ - o o
e m| ©
| Q S ¥
F-+ + - © o o !
! < N
“““““““ + 1 >
|
| T T
s - s 8§
| | | m. 3¢
I N &
[ [ ] l
e ] .
o o oo oo o
S oo < 6 ® o
] TEIETS
| |
St
P
rEF
il
=
'H
£
N
S
+=
& =
™ ik
E)
S s
.rn..ﬁﬂ.
o g
£=
o
=)
4
. 2 ;
0 N e} %
N 2,
N\ = <
™ o 2
= S
(qV}
o
o s
N 3
4
< o
o> e
(V)] -
- ~ L
(@] ™ =
N o
o -
o) 3
4
=
™ N =
™~ - EEE-EE L
[ [ | [ | [ | [ I | I ] (wd L) | = |




BRSRE

ERRERIUEE AR

3
'iiliﬁ ."n':l?i ¥ ™
SR | - &

FAREIE T
7

F it /

A
\1¥I_I I

DT LR BT P T R

&

/-' n

et B Rvan: | KL

A —
o

/
_ﬂlﬁqgﬂﬂ]
okl
D mnsm

) EEsE
) muanem
o HBBmESE
®  RUEBESHE

o
(2.9} L~

jf“kx$:$!u
4

1/30 1/1,500

1/200 1/3,000

1/3,700 1/15,000 1/20 1/300

1/80 1/400




TP (m)

55.000

50.000

45.000

40.000

35.000

30.n0n

A

300.000

400.000

500.000
i (m)

TP, (m)

82000

F0.000

0000

LI

#1000

82000

B0.000

-50.000




|
~

800 kw ) ( 10 ha )

|
m3
63
142
3
123
D99 J ( 5 kw
0 50 100 150 200
(kW)
168,000
IR 120,000
IR 123,000
IR 206,000
90. 3% 623,000
245,000
126,000
61,500
1,280,000
1,000,000
600,000
2002
(/
_ : _ . i
HE H17 ( KX B DFEBEUKS KUERKE
) s e = s o
= md/s
. 124 (3R ) 317m/s moar. = 1 5w |
BuEORRR0.26mys T
800 kW P~ s 171
HREKS A (317 4
° 10.4 ha _ﬁﬁ?_‘ﬁii?ﬂ?{ﬁ_x:‘- el fiL o sl
63.5km FERTF
VL
o . 2 N = s =
IWNFEB= o INFERERR
290 276 e Ran h{} = N
L 7 |
°
11 1
13 JR
17 KW
171m3/s

7/20 8/31 ‘ 10/1 11/9 ‘ ‘1713731 0.26m3/s
24 1952m/s 4/1 5/31 566m3/s
(10 00 16 00)6 2265m/s 1 6/1 7/9 1216m¥/s

22.65m3/s 19.52m3/s 7/10 9/10 7.81m3/s 19.71m3/s

10.13m3/s : 9/11 9/30 12.16m3/s . 1
. 10/1 11710 19.71m3/s | 12.16m3/s "
I_. 11/11 11/30 5.66m3/s 1
1013m5/s 12/1 12/31 026m¥/s |7.81m3 /J
m3/s ) 5.66m3/s i 5.66m3/s
7m3/s I 1 0.26m%/s | 0.26m3/s

1 2 3 4 5 6 7 8 9 10 1 12 L+ 2 3 4 5 6 7 8 9 10 11 12




| (BOD)

BOD 50
[ ] 5 21

50 COD
2 5
21
f 13
Y
i 15
b Co
‘\( ( ) —0—
¢ . D 14 gw
E
( <3 - 50mg/L 75 =
S41 S43 S45 S47 S49 S51 S53 S55 S57 S59 S61 S63 H2  H4  H6 H8 H10 H12 H14 HI6 o 5 o/t
mg
50
[BOD75 ] Pl N
q n ~ [=2] — (3] o < © © o o~ < © ©
BOD75% s & 4 & & * * T T T T T T T
40
— AA 1.0mg/1
< AN A 2.0mg/1
D> 30
S
=~ B 3.0mg/1
i
5 C 5.0mg/1
Q 20
- D 8.0mg/1
—_ 10.0mg/1 =
TuEEm
10 ;_dﬁ
: =
'
o =
00 - =
S41 S43 S45 S47  S49  S51  S53  S55  S57 S59  S61  S63 H2 H4 H6 H8 H10 H12 H14 H16
o
S 20 e *
S
A
15
+ 7’/‘\'\\\%
05
0.0

H8 H9 H10 H11 H12 H13 H14 H15 H16 H17




2,809,812

222,815

131914

3,724,639

6,889,180

DETAEANS AL
b e T
e ety

o . o I
I_T.Q-F;'Hlllﬂﬁﬁﬂﬂﬁrg‘:.k’.mr i ;JII%HH ﬂfﬁ

LSS R Y WL A,

G I D =




( ) 15m3/s 7m3/s
40m3/s 145m3/s 115m3/s
4/1 9/30 6/1 9/30 4/28 9/15
[m] 30cm [m] 30cm/s)
)( ) 7.0m3/s 60cm/s ) o
15m3/s (96.3km ) 13.8m%/s 54m?/s 79) : —
29 2000 -
39.2m3/s 1800 - '
40m3/s (6.9km ) 0.4m3/s 1600 | D . D D
1400 } ! ! .
32 38.7m3/s 1200 | . . .
145m%/s (34.8km ) 149.5m3/s 45.7m%/s | o0 : : :
20km 20 10 1 . : X
20.7m3/s
3 20 10 1
25m3/s 34.0m%/s
20 10 1
138.4m3/s
( 49)
15m3/s
40m3/s o
7.0m3/s
2
145m3/s
( )

= 402 \__/
o 10 20 30 40 50 60 70 80
(m)
[ ]
38.7m3/s
(BOD) 2

1500

¢ 145m®/s

1000

500

0.0

40 60

100 120 140




u 40 50
|
40 2 —*/—\\—\L S48 55
a0 S39  S56] - — Ez —= \ T~
"= 20 E 0.0 Lt I 7 r e il L ! T
E 00 ey .rﬁ_%wMWl 7:.2 —_— ]-Tl @ﬂ.. “Tupr — ml"lir"r'-.'ﬁ'm"lh-]> :ig B o I ~m I-I-'I—‘\ e T !
iz L -40 0 5 9 15 20 26 34 40 a4 48
20 20 m 50 60 - 80 90 100 10 87654321 -2 10 15 21 26 32 42 53 64 [km]
el flnd ‘ | w0 s | S55 H1
40 S56  H7| g — — | S55 H1 BT > ‘ :
E 20 — = i Yy — | I.'___I n S T /,/ . }\“'/4.]1. o "1.;\ 0 | T WE>
_Z:z I v I@“ I > ﬁ* -20 | \\ J'//l by !
40 -40 0 5 9 15 20 26 34 40 459 48
20 30 40 50 60 70 80 90 100 110 gresesal 2 10 1 2 2 % 2 5 o l terd
fln] k] - v [ H1 H1l /
1 40 E 20
= i o~ o | H1 H17| e e e
= L L n Al Ny B wla s - o ol L n a8 £ i ] ‘ -20
0.0 i SN § i A i Q—' e ety Py — I"II 1 i —— l".._- M \L"rrln‘ i
:i Z U 20 : : 0 5 9 15 20 [2k6m] 34 40 44 48
2 30 40 50 60 [km]70 ( * 87654321 -2 10 i5 21 28 32 42 40
[k} T 20 ‘ H11 H16
w0 | ; 40 0.0 f== — e — =t e = | L T -
- 39 S50 | ; ~. | 38 S50| £ 2 B | S5 H3 a0
T oo | ) o0 — = — = = 0 16 7 o 15 20 2 34 540 4 48
T -2.0
jz \F " i — i ] -40 ol
0 8 15 23 30 b3 61 68 7% 83 0 5 10 15 19 3 21
4.0 I } [im] 40 N 4.0 [km] | . 40 50
= 20 S50 H1 | i | \§50 H2 = 20 ‘ H3 H10
= I /— £, |
0.0 gy = =y ™ < \j' 00 w — w = ——- - S
o e >| 20 | 40 50
0 8 I 15 23 30 %3 61 68 76 83 0 5 10 15 19 23 27
1 1 ] | flan]
4.0 4.0
- Hf= HL | : i _ H2 HI7 = % ! H10 H17
—— » _1h.' - n - I — I = 00 EE= [u—— — - -
1 I
4.0 -4.0
0 8 1 15 23 30 l53 61 68 0 5 10 15 19 23
fim] [km] -
[ ]
340 | // 56. 0k| 674 o112 19.0k] ! 120 - ; 27.2k] ;
L | | \ | | | |
338 HIIL:336.2 y o2 110 - [ |----- R | S 10,0 _ Mmco361 4
336 T T R | S w S45/ ‘ - . - ! ! ! !
t | | ]I‘ 670 108 " n——— 4 | T S 80 s [ -
334 | o | ——S55| ‘ 1 4 —ss6 /| A NL O
N e - 668 ‘ w 6.0 [--Aded§ - S ;
332 - U | Inaas /i,  ees 60/, 106 ------ N s L | —— S60 | ST T—s48))
3330 F----- ‘—— e ‘W—S?,g ! —H2 ; | Yj»\/ﬂlﬂq ! —H2 4.0 o S i i S55[7
s /e '\ |—s56|1 664 ——H10/! 104 ¢ | —wto| 2o Lo Y L
° 328 - Iv\,_,w -N----- i B | = | - | | |
3 777777777 \!7\77777777777\777 | 662 H141 102 - | H14| ~~ | I V- ' lej
326 | | | | | 0-0 I \ ! 1
| | H17 | H17 | H17 | ¥ | H16 |
324 L L | 660 ‘ 100 I -2.0 | | | |
-100 400 900 140 1400 -50 50 150 25( -100 100 300 500 700
(m. (m) m m




|
100 ; T TR 100.0 . 100 TTTT T T TTT7 ?W 100 IRRALL
| YL R | | i [ Lo B
90 54'Ok\ (407 (| R 90.0 82.0k } } 90 ‘260k 1 LA / R 90 19'0kmm 26.0k
[ | [ ol [ [ [ | I | H#HK [ Lo Lo ! 11
80 ———\—\—\4————#———\—VH—H——\—HH\— 80.0 T L | g0 | * S60 26.0k H g R 80 | L it i “® H 3 260k pu
H H : : ANl T R [ | S60 26.0k 1" | MJ;\J){ Lo e H12 260k '
70 b ARl 700 L L | 70 H 1 [T [T 70 H 1
o | ORIl T : Lo 1 | —+—H14 26.0k 1 oyl [ [T o
L [N | [N AR B | | 1" L /i [N R IR
60 [N | A% il 600 r | I | 60 M —a-p14 26.0k I TATATT [ 60 [ (R AL
L [N | v B | | T 1 Lo P
50 [ | (R (R 500 r 11 0 ([ | 50 T T TTTT T T T T TITIT 50 A o
[N | R T B | | o Lo P
[N (R R 400 F 111 I | 40 0o Lo 40 + P
N Ll N . | o Lo RN RN
T 4~ S52 540k |~ 30.0 L L/ | 30 + bl L 30 L]
[N 563 540k | ’ [T | \;/\ s S52 820k| ! (BRI * R T T
= s - = 200 [ [ V. | 3 L1 20 oy Lo 20 L AN [
I —— H12 540k | . o }( | S62 820k | ! [N | & [N [ [
! = NI | | Lot & [ [ [N
| A H17‘ 54.0k |, 100 [ \.%‘ [ T & H17 82.0Kk[T] 10 i I IR 10 Fml
Lol LI I 1 | Lo
O.Ol:A“'L"V I oo 0 0 R RN
ot ! 10 100 1000 01 1 10 100 1000 0 L 1000 01 100 1000
(mm) (mm)
|
[TTETP "’l""
|

-50 50 150 250 350
(m)
__.-____----_--d:--r""""“"‘
o |
; -
S62 < &/—
— s42
— s32 u
S23 L S 24 S 3. 6kn J
— 56
— M44
|
|
1400 140000 EHEICHL
1200 [ — 120000 - | 1.7
— — Bt
1000 [— — W 1,00000 [ — HHE
_ 80000 |4
o ™
2 60000 | -O—
400.00 M/O/%
200,00 —O '

. Pl IR — 0.0040@_0%:4__4@_& et 0 84 Fi :
wlg—s g s o L LpplPme m e 2 e oy e s e o o~ || 14 == =8 —. b =
o . o ¥ ¥ £ £ ¥ T T T R+ B R (BHS3E~ R 1 SETIIE) BRI LEFDERIBLRERSED)
-600 -60000




